[image: image1.png]©




[image: image2.png]v Comgemink o, F Ay T ocannolr hue o |
Pk on e robebimal Motion ! |

© et gulle o axit mee ot leay |
comprsrob ¥ L o T s d componct
Ao :a_s'__ﬁﬂ#/duré-) oo prosdes dorce (Torqeca]

Torgue ofhivg in prodiiomy tobabinad potin
Y F = @®)(Fsne)
in AoV groduck recall
A8 - [Bf lompocttqT 2 wF)
= Sedar W
s 05y BBz BA [onegFund) B

e -
e 18)cos0 ~ 1] cakt-0)

5
w‘ Cor0 73 mymmcbere
3 LN abeso

i ur st Ty Sy wel Tree

Conpont f F L4 4o F)
fimrenk ]

Torque = |F] ” /3
et
- SV
S, 0 rintiert N o nowtion)

5140 is 40T & Sqpumatibe



P113 lecture – 10/30/03
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